afu

The final consonant, &I letters in the IFF%%‘(HC? S (0, %, €, 4,29, 9, T, d, I, , &) are called 3q (i

DN

AT=sid 3f 39, appear and go away).

1. In 9o s, for the sake of brevity, some of the fawfths are used as notations to indicate the conditions to be
met at specific locations during changes such as sandhi etc.(ref: p43 of the text ESG vol 2).

6'h faufr (shown with superscript “°” in text, colored green in addition here) = Place of change (w2rm)

5t s (shown with superscript “>” in text, colored blue) = Condition to be satisfied by before Ty (such
as geavl, Jeue-31)

7 fawfe (shown with superscript * 7 in text, colored red) = Condition to be satisfied by after the &=+ (such
as T, TUG-3111)

1t frafss (shown with superscript “ 17 in text, colored purple) = the change (replacement/ substitute or
addition) coming to the == (location shown in 6™). This is what stays after the process (of @f#r).

3t faufw (shown with superscript “°” in text, colored ) = Condition to be satisfied by either before or
after =o= (3 means 5 or 7)

2. F =%, ==, g=za, g=a, g=va

3. A—d attached to the end of a ¥ (vowel) indicates that length (8%a/<H, short/long) only.



9% + 3T: QAT + 375 = TATRT qi + S8 =T
(3 + ) YT + )& (3 + 3) AT

I + ) TA(T + 3] T + DAt
I TA(E] T(Z) AT

am-—cr: qqTEq 'ﬂﬁ"’&'{' :

T + ITH: fUq + sRom.

(S + 3)TH: o + )7

(3 + 3)TH: (= + =)o

T(3)aH: EE(ECE

T fagore

H/ZRP/B/(B) = ‘ZIC\ETEWT = 3% ‘@ﬁ'&lﬁ = 5" = 37eh: 5t (qe=rHt) = iffwhen preceded by

H/3/3/(FB)/ L2} = YTV = I T = 7 = A 7t () => if/when followed by
A/3/3/F= AT = & 3T = 1% =

15t (J¥HT) = the replacement/result

6t (w8T) = place of change/ is replaced by
6.1.101 3Teh:” GO’ &Tel: ! (~ el Ueh: ! 1t Wigdmmy)
6.1.101 3Toh: GaUTarg:'|  EAUIE -




é?:l' + 9 x:
(A + 3
A + D)
FF(T)=:
A

AT + IHY
TY(AT + I)HY
T + Syhe

TY(ITNTHA,
JATHT

~N

/AT = qeia0] = 3

T + 3T
(3T + 5)I:
TS - O
(TR

THIT:

a9 + R
TH(3 + /)9
T (A - )
(Y

Y

QETR = 5™ = 3T
/3/3/H(B) L = WAV = 3 W = 7" = 31t
3/T/3/3Y () = HATE = T[T

6.1.87 ST T0T:" (~ GEUAT:* Ueh:! 37fer’ wfgarm’)

6.1.87 T TU: |

'{'[UT-H'E%T:

AT = [ =T0T:

9 + IYRIL:
q'{\(?ﬁ + 3)UhIL:
W{\(C’FI' + 3)ThIL:

ELERCALE
TR

Hal + 55?5[:
(T + H)W:
(T + H):

RECUVLE
LELE

5t (we=nft) = if/when preceded by
7" (wweft) = if/when followed by

1%t (wemm) = the replacement/result

6t (w8T) = place of change/ is replaced by



T + THY
TH(3T + T
TH(H + R
(),
Tehehq

%lﬁr + 3:h'g :
foy(T + 3T)s:
fomy(eT + 31n)E:
forrey(3T)B:
farats:

/AT = qeia0] = 3
T/3AN/T/3T = a0 = T
T/ 3 = 31 = Jhs:

6.1.88 TG | = a7 (~ AT’ et u: ! wfearmy)

qT + T
TI(AT + )T
AT+ O
SRR
ag

TG + 3TTH:
T3 + 3T
(T + AN
TS
TS

N

QeI = 5™ = 3T
AT = 7" = uf
AT = 1% = 3fg

.
c

TR + U

(3T + V)meH,
HE(S +
EEUERT

~

L E R

N

o + aftwem.
fa=g(31 + Sihwem
faa(et + sihywem
fe=g(attywean,

festtaay

~N

5t (we=rft) = if/when preceded by
7" (wweft) = if/when followed by

1%t (wemm) = the replacement/result

6t (w8T) = place of change/ is replaced by



30 + 3= = ST=Ad oTq + 379: = YTeae: TA+ITERIA=aE IR

FE + 3= aT(3 + 31)ef: I + ShER

(T + 3y g + 3Ty A + SR

ES(RE] RIN(CIRE HGUEREY

ﬂﬂﬁ e Eﬁﬁaﬁ"{

el + T = TedshH] T + 3RO = U G + 350 = Gicaaq

A + O TYE + )T (3 +7)aH

(T + TYH +R)TH GA(F +7)H

ST (@™ we (e

3/3/B/(@) = TIH =T T = 6" = 3 6t (wst) = place of change/ is replaced by
J/3/3/F/YA =qGu = 3T T = 7" = 3 70 (gwe) => iffwhen followed by
/A = TSI = U1 T = 1% = J07 15t (3eMT) = the replacement/result

5t (qe=rHT) = if/when preceded by
6.1.77 5o:° 0T ST’ = ZRT I | JUL-H




T+ At W+ TR TR + STfeE

(T + e ()R (AT + FmfeR

(e + ) (@ +0)fe T + e

T+ 3fd BEERUH T+ et

ERIT] TR NECHIER)

e + Taq At + 31 arTet + 39

= (U + Ty (T + 1Ay TR + 2

R, (AT + )] (& + N)AG TFT(STT + B)

TEH + TAq EEECE! T + 5

LIS IR EICEK| FETAT

T/ = TN = < I = 6" = 3oh: 6" (W) = place of change/ is replaced by
H/2/3/.. ./Q/?rﬁ — QL] = S| T = 70 = 31 71 (@gHT) => if/when followed by
Y/ A/ATY/ATT = 3T QI = 1% = A 15t (g2mT) = the replacement/result

‘6.1.78 T Y-HG-3G-3AE: (~ A WiedRm) = TISTaRE: | SEaarEa-aiee:




8.3.19 ©IT: IITehe==T (Optional)

W+

T+ T

BT+ T T S-39-S~ AT i)

(T + 3T

() + 3} 8.3.19 AIT:! SMHTAE® (~H-JaA1:° T Ta&° AART) mr=7+7)

ol gg (option for g{ﬁ_‘é’)



gaEwy-afeer
6.1.109 UZ: YeT=dIerd

T+ =

AT+ 3A)=gd

H(T A+ ST)=qd

H(T) +=gd 6.1.109 TS l4c:|-(1|<1\5 AT’ (~ Wl qc\g]‘-q-{—q}ﬁ T ')
T+

B = AT (5 STavie: Trguf)




TSHAT (Vg pp)

ug(F+aT)fea

T+

wEfa 6197 3@ T (~ U A GETET:C U wEan)

HI+Y N T+, upl)

H(3TQ)

HA(SHT)

HY(T) 6.1.97 Q=" TV ( ~ FUGATG ST’ qeoa: Toh:'| Eun)



